IK: - dynabook

PARTS LIST
C40-J
B ETNA~ PYS46E, PYS47E
SegNo LocNo ToshibaPN ODMCODE Category Description VendorPN Remarks
1 01-D P000844910 P000844910 PCB MOTHER BOARD ASSY GX1C0019L821
2 03 P000823130 P000823130 LCD LCD 14 FHD AG 250 N140HCA-EAC C000000341
3 05-A P000828510 P000828510 ~ SSD SSD M.2 256GB C-E80T256G4-P3D3B3E13_ C000000240
4 07-A P000824230 P000824230 MEM MEMORY DDR4 3200 8GB MTA4ATF1G64HZ-3G2E2
5 08-B C000000158 C000000158  ACC AC CORD SET 3PIN GR
6 09 C000000606 C000000606  ADP AC ADAPTOR 3PIN 45W
7 10 C000000201 C€000000201 LIB BATTERY PACK 2CELL
8 13-A C000000720 C000000720  COV LCD COVER ASSY BLACK FHD
9 14-A C000000307 C000000307  COV LCD MASK ASSY V.E.X.0000809
10 15-N C000000739 C000000739  COV KB COVER ASSY BLACK
11 16-A C€000000778 C000000778  COV BASE ASSY BLACK
12 20-A C000000706 C000000706 TP CLICK PAD WHITE BLACK
13 21-B C000000351 C000000351 INS TOUCH PAD MYLAR
14 22 C000000353 C000000353  ETC GASKET
15 23 C000000709 C000000709  ETC GASKET
16 24 C000000176 C000000176 ~ ETC GASKET
17 25 C000000357 C000000357  ANT ANTENNA MAIN
18 26 €000000358 C000000358  ANT ANTENNA AUX
19 27 C000000711 C000000711 ETC COOLING MODULE
20 28 C000000360 C000000360  COV TP BRACKET DARK BLUE
21 30 C000000619 C000000619  FAN COOLING FAN
22 31 C000000620 C000000620  COM CAMERA MODULE
23 32 C000000715 C000000715  SPK SPEAKER
24 33 C000000363 C000000363  ETC RTC BATTERY
25 34 C000000364 C000000364  HAR LCD LINK FPC
26 35 C000000365 C000000365  CUS CUSHION FOR MASK SCR
27 36 C€000000208 C000000208  CUS BOTTOM CUSHION FOR MASK
28 37 C000000366 C000000366 ~ HAR FFC TOUCH PAD
29 38 C000000367 C000000367  HAR FFC FINGERPRINT
30 39 C€000000368 C000000368  HAR FPC USB-SYS
31 40 C€000000375 €000000375  CUS MIC CUSHION
32 41 C000000716 C000000716  INS MYLAR WIFI CABLE FIX
33 42 C000000213 C000000213  COV HANESS HLD SLOT
34 43 C000000370 C€000000370 ~ ETC RTC PLATE BRACKET
35 44 C€000000371 C€000000371 BH HINGE L
36 45 C000000372 C000000372 ~ BH HINGE R
37 46 C000000717 C000000717  CUS CUSHION FOR FAN SCR
38 48 C000000616 C000000616 ~ CUS EMI GASKET
39 49 P000839810 P000839810 PCB USB BOARD ASSY GX1C0019L805
40 S01 C000000182 C000000182 ~ SCR SCREW M2.0 L2.5 D7.5 T0.5
41 S02 C000000354 C000000354  SCR SCREW M2.0 L5.0 D4.5 T0.5
42 S03 C000000184 C€000000184  SCR SCREW M2.0 L3.5 D4.5 T0.5
43 S04 €000000185 C€000000185  SCR SCREW M2.0 L2.5 D5.5 T0.5
44 S05 C000000225 C000000225  SCR SCREW M2.0 L0.3 2.2 D5.5
45 S06 C000000396 C000000396  SCR SCREW M2.0 L3.5 D4.5 T0.5
46 S07 C000000710 C000000710 ~ SCR SCREW_M2_L6.5_D4.5_T0.5
47 S08 C€000000180 C€000000180  SCR SCREW M2.0 L3.5 D4.5 T0.5

'S
@

S09 C000000181 C000000181 ~ SCR SCREW M2.0 L3.5 D4.5 T0.5



IK: - dynabook

DRAWING | 1




IK: - dynabook

DRAWING | 2




